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g ¥sd oEdXA 102,500 77,100 25,400
201 B2 AY| 19,700 42,900 223,200
01 AtR2telt] 19,700 42,900 A23,200
[ LEk=ZH| 8,100
O HENRES 2L
50,0003 *105+*43] 2,000
O HEAMRII| ABE 2
300,000& *53] 1,500
O Jlgelgxia g8 9 ME
100,000 * 1004 1,000
O JIgegxd 88 A M
12,0002 3005 3,600
O =] 1,600
O Il %EY oz XA £3
8,000 x2H 100! 1,600
O PRI QXA 10,000,000 * 14! 10,000
202 O4H| 2,800 4,200 A1,400
01 =2LHOd ] 2,800 4,200 A1,400
O D= XId Atell eiXI 0
20,0003 x2Z 30 1,200
O DI EE g8+ XA
20,0003 «2Y «40! 1,600
307 212+01™ 80,000 30,000 50,000
05 QIZIRIErZ 80,000 30,000 50,000
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Ha: ZA0|9 2 Yt

=aak j|§ SEE o= X# (SH &)
S B SR (BI) - HISAY - BAS ofl b0 G o MimE=EY
RS ENEEESSEEE
30,000,000& x 1A 30,000
DolRess ooy ns
50,000,000 14! 50,000
HIH Xl 22| & g 2,607,286 1,675,694 931,592
= 11,250
J| 70,000
& 538,933
Al 1,987,103
SESH0|D oA WX 22l 397,773 683,310 N285,537
= 11,250
& 58,495
Al 328,028
Huxie & 3322 41,473 36,910 4,563
101 2124d| 4,733 0 4,733
04 JI12tHNI22XHsE 4,733 0 4,733
O] HEIIZAF BEX ol
78,880 x2H x30L 4,733
201 LEt2AH| 17,500 20,950 N3,450
01 AFR2teltl 17,500 20,950 N3,450
O 2Bt=ZH| 8,720
O SBAZ ME +48
15,000 741 2 %23] 2,220
O uXI&Ee 222 H&
1,000&x1,0005 1,000
O otEZe|(JIA, D], Mg ) EE¥= A
&t 1,000 1,000 1,000
O HBEA AZ 79 U BAL2E
10,0002 * 10000 S =+23] 2,000
O =2s € NEF Z2EE=E
100,000&*150H 2= 1,500
O fAXNME 2E 282 HE
1,000& x1,0005 1,000
O I =] 3,400
O 92222 2 NSHI(JFA, HEZDI)
300,000 1H*x23| 600
O H|X&E2 W=H| 700,000 *4H 2,800
O] S| 4,400
O HUXIEM =X
8,000&x5H %110 4,400
O 24y 980
O TAIIIA B2FRLK3E =
70,0002 x7H 23| 980
202 04| 9,240 5,960 3,280
01 2L Y| 9,240 5,960 3,280
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Cel: SEX0|10 HAE WX 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0 200 2A 9 JIAEE 328 sl
80,0003 x2Z 22«33 960
U =8 A% HiigL s S50
80,0003 x2&+32 +23] 960
O JtAsiiga nssd
80,0002 x3& x2 2 x42] 1,920
O ATHA0H A 2t P2 HAZ0HI
80,0003 x32 22«33 1,440
O MUTIZS 22 93s &
80,0002 *3E 2L +23] 960
O B2 d2=a 20,0003 58 30! 3,000
206 MH=H| 10,000 10,000
01 MHZH| 10,000 10,000
0 &0l 9®BRIE HEPY (LI S)
100,000& %1009+ 10,000
NEIEIIAMIIE I (EOIHE) BSAIY(EX) 11,400 11,400 0
= 3,420
Al 7,980
403 XIS A=201E 11,400 11,400 0
== 3,420
Al 7,980
02 S 2SS0t et =& 2 €A H| 11,400 11,400 0
O MEISIIAHM R (EHOIHR) ES ALY
11,400,000 * 14| 11,400
= 3,420
Al 7,980
CADIASE BEx3 XNE 150,000 405,000 255,000
402 DI TH2OIF 150,000 405,000 255,000
01 QI XHZ AL E (KM THE) 150,000 405,000 255,000
0 SAIDIA D2AA SXH X2
150,000,000 * 14! 150,000
LPGEI| AHEIt7 AIEIHE AL (EX) 22,500 180,000 157,500
= 11,250
= 3,375
Al 7,875
403 AXIEHHSAH=01d 22,500 180,000 157,500
= 11,250
= 3,375
Al 7,875
02 SISOt =2 A P E A I 22,500 180,000 A 157,500
0 PGEI| AHEJt AIEIHE AL
22,500,000 * 14 22,500
= 11,250
= 3,375
Al 7,875
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Cel: SEX0|10 HAE WX 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TADMA DISSXS XEAMS(EX) 172,400 0 172,400

= 51,700
Al 120,700
402 212+ X+=01 & 172,400 0 172,400
= 51,700
Al 120,700
02 QI XHE AL E R (01X THE) 172,400 0 172,400
O SADEA DISSASE KA
172,400,000 * 14! 172,400
== 51,700
Al 120,700
AITHA Ol X JHEE 2,209,513 992,384 1,217,129
Il 70,000
== 480,438
Al 1,659,075
ATHAHOU X AS KB AL (EX) 369,900 359,900 0
< 107,680
Al 252,220
402 QI2F X201 & 369,900 359,900 0
= 107,680
Al 252,220
02 QI X2 AL EE(0IXTHE) 359,900 359,900 0
O ATHAOIHX ASX2A
359,900,000 * 14 359,900
= 107,680
Al 252,220
ATHAHOIH X FEHXRAIS (EX) 143,920 294,460 150,540
[ 43,085
Al 100,835
402 QI2F X201 & 143,920 294,460 A150,540
= 43,085
Al 100,835
02 QI X2 AL EE(OIETHE) 143,920 294,460 150,540
O AITHAOIL X F=EX A
143,920,000 *14] 143,920
= 43,085
Al 100,835
FHAAE HHXISXAMS(EX) 100,000 100,000 0
7l 70,000
Al 30,000
401 Al HIZL S 0HYI 100,000 100,000 0
Jl 70,000
Al 30,000
01 Al&H| 100,000 100,000 0




M LXtelZ Mzt
2 UK 22l € Oone

Rl ATHA oI X OHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 5ot (XS WA
100,000,000 *14] 100,000
Il 70,000
Al 30,000
SXAIE ORI ZAAIL(EX) 31,725 43,700 A11,975
= 9,518
Al 22,207
402 2I2FXH=201 & 31,725 43,700 A11,975
== 9,518
Al 22,207
02 QI EASEX(0IETHR) 31,725 43,700 A11,975
O SXAE OlLIXIE A
31,725,000 * 14| 31,725
= 9,518
Al 22,207
AITHANU X SLIEHZAIAE AXILEHI(EX) 14,000 14,000 0
= 4,200
Al 9,800
402 2I2F X201 & 14,000 14,000 0
== 4,200
Al 9,800
02 I EASEZ(0IETHR) 14,000 14,000 0
O ATHAOH X SULIHEAIAS AXIYLE|
14,000,000 * 14| 14,000
S 4,200
Al 9,800
ATHEOM UK SSEXHAMS(EX) 856,968 0 856,968
= 315,955
Al 541,013
403 AXIEHMSA=Z0l1d 856,968 0 856,968
s 315,955
Al 541,013
02 SO 2SOt st =2 H 2 €A H] 856,968 0 856,968
O ATHAOUHR SSSRZAL
856,968,000& x14] 856,968
= 315,955
Al 541,013
X ol XIalated 835 XM (RHEEX) 703,000 0 703,000
402 212t X201 & 703,000 0 703,000
01 QI X2 AL E (KM THE) 703,000 0 703,000
O XS ol Xalatey gdst AEAS
703,000,000 x 14 703,000
AH2IIHI(LX2IZ D) 222,121 197,780 24,341
el 2| 197,611 171,940 25,671
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A AZYRAIH(LT2IZ D)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QA2 (LRt B M) 197,611 171,940 25,671
101 @124H| 193,292 167,716 25,576
01 &2 142,854 118,282 24,572
O =222 142,854
O AlteI2Rs4
12,5312 x192+50A| 2+ 123 142,854
03 SR (RIH )22 U2+ 50,438 49,434 1,004
0 SRA22 4 U2 50,438
O Jlzs 2,096,510« 18~ 123 25,189
O HHZAHI 140,000 x 12 * 122 1,680
O AR2xH| 30,0002 x 12 360
O JIZ2du= 2,266,510 *42] 9,067
O 9= 1,350, 9002123 2,720
O zn2R4Y
16,2602 x 1 *20A[ 2+ 123 3,903
O gaaesd
130, 1302 x 142 x 12 6,247
O exi+=g 86,750 x1&8x15& 1,302
04 HSRESS 4,319 4,224 9%
M 2RE(LI|J) 22N PEHESHE S 4,319 4,204 %
0 22x22% 283 s 2943 4,319
O ZLNIRT AYPH 293
50,433,850& *3.6/100 1,816
O ZRNZ2N #3298 2y
50,433,850 *4.5/100 2,210
O 222N HQUPH P
1,815,610 +12.81/100 233
=3t 24,510 25,840 1,330
Jl=2Zul (X2l 2 M) 24,510 25,840 21,330
201 er2 3| 9,500 10,500 21,000
01 AtR2t2|HI 9,500 10,500 A1,000
O et 9,500
O SAEA 2
30,0003 #5082} A*32] 4,500
O 42 P=2 2 DA 2
2,000,000 %14 2,000
O & MRII| A2 (S, EH
s) 3,000,000& %14 3,000
202 04| 3,040 3,040
01 =LHOLI 3,040 3,040
O XNSZH gdstig 2=
20,0003 28 20 800
O ZHgdst geaad & /35 4
80,0003 x2E +7 L +23] 2,240
203 HR=4AY] 6,570 6,900 A330
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